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13 clocks

tl c
tl d
tl urgent
tl arr x
t2 ¢
t2 d
t2 urgent
t2 arr x
t3 c
t3 d
t3_urgent
t3 arr x
CPU1 urgent

2 parameters

3 discrete

Initial

t2 D
t2 arr P

tl inst
t2 inst
t3 inst

t2 arr P >=
&t2 D >=
& 100 >=t2 D
& 100 >=1t2 arr P
&t3d=0
&t3 c=0
& t2 arr P =1t2 arr x
& t2_urgent = 0 (tl loc act event
&t2d=0 - = -
&t2 c=0
& tl arr x =40
& t1 urgent =0
&tl d=0
&tl c=0
& t3 arr x =100
& t3 urgent = 0
& CPU1 urgent =0

20
20

Task t1

l

(tl_loc_idle

True)

tl arr event
tl urgent := O;

0>= tl_urgent)

tl urgent = 0
tl arr
tl c:=0; tl1 d:=0; tl inst:=1;

tl

40 >=t1 d) tl inst < 5
tl loc act — = t1 arr event
stop t1_c S t1 inst:=tI inst + 1; t1 d:= 0;
tl dis
tl d >=40\ tl inst=5 40 >=tl1 d i
t1 miss tl arr event [tl_loc_exe & 5*tl inst >=1tl1 c Ve
tl d >= 40

tl miss

(tl_loc_miss True

& 5*t1 inst > tl ¢

tl inst = 5
t1l arr event

Periodic t1 arr

l

(t 1 arr loc arr

tl arr x = 40
40 >=tl _arr_x)? t1 arr event
tl arr x := 0;

_c = b*t1 inst
tl end

tl inst <5
tl arr event
tl inst := =tl 1nst + 1;

tl d:=0;

Task t2

!

(tZ_loc_idle

True)

t2 arr event
t2 urgent := O;

(tZ_loc_act_event

0>= t2_urgent)

t2 D>=t2 d > ——
t2_loc_act —— — w ,r;‘;‘llff‘;;j,
- stop t2 ¢ jeei= et

20*t2 inst > t2 ¢
t2 pre

t2 urgent = 0
t2 arr
t2 c:=0; t2 d:=0; t2 inst:=1;

t2 inst <5
t2 arr event

t2 inst := t2 inst + 1; t2 d:= 0;

t2 dis

t2d>=t2 D t2 inst = 5
t2 miss t2 arr event [tZ_loc_exe

t2 D>=t2d w L2-imrst=<-5
& 20*t2 inst >= t2 ) t2_arc_evert

20*t2 inst > t2 c
&t2d>=t2 D
t2 miss

(tz_loc_miss True)

t2 inst = 5
t2 arr event

Periodic t2 arr

l

(tZ_arr_loc_arr

t2 arr P >=t2 arr_ X\

J

t2 ¢ = 20*t2 inst
t2 end

t2 inst < 5
t2 arr event
t2 inst := =t2 1nst + 1;

t2 d :=0;

t2 arr P = t2 arr x
"t2 arr event
t2 arr x := 0;

Task t3

l

(tS_loc_idle True

t3 arr event
t3 urgent := 0;

(tB_loc_act_event

0>= t3_urgent)

t3 e 0 t3 ¢ = 30%t3 inst
t3 c:=0; t3d:=0; t3 inst:=1; t3_end
100 >=t3 d I t3 inst < 5
t3 loc act = w ,rffalrff‘;;n;._ t3 arr event
stop t3_c et PRl £3 inst := t3 inst + 1; t3.d:= 0;
30*t3{§nrs)§e> t3 c t3 dis
t3 d >= 100 t3 inst = 5 100 >=t3 d (3irst—<-5 t3_inst < 5
t ° 3 t3_loc_exe - S e t3 arr event
t3 miss t3 arr event [ — & 30*t3 inst >= t3_C/' t3_arc_overt £3 inst := t3 inst + 1;
t3 d>=100

& 30*t3 inst > t3 ¢

t3 inst = 5

t3 miss t3 arr event

.
(tB_loc_miss True)

Periodic t3 arr

l

(tB_arr_loc_arr

t3 arr x = 100

100 >= t3_arr_x\ t3 arr event

J/ t3 arr x := 0;

t3 d :=0;

(CPUl_loc_AtS

0>= CPUl_urgent)

CPU1 urgent = 0
t3 dis

sched CPU1

l

CPU1 loc True)

tl arr
CPU1 urgent := 0;

t3 arr

CPUL St o 0 (CPUl_loc_Atl 0>= CPUl_urgent)

CPU1 urgent = 0
tl dis

Y
CPU1 loc Rtl1 | True

t3 arr tl end
CPU1 urgent := 0; CPU1 urgent := 0;

CPU1 loc Rt1Wt3

Tru e)

tl end
CPU1 urgent := 0;

(CPUl_loc_EtIWtS

0>= CPUl_urgent)

CPU1 urgent = 0
t1l dis

\

CPU1 urgent = 0
t3 dis

t2 arr
CPUL e e 03 (CPUl loc Etl | 0 >= CPU1 urgent

*{cpm loc RtIWt2Wt3 True

tl end

OBS dline

(dline_loc_nomiss True)

t2 arr

CPU1 urgent := 0; tl miss t2 miss t3 miss

(dline_loc_miss True)

(CPUl_loc_AtZ 0 >= CPU1 urgent

t2 arr
CPU1 urgent := 0;

(CPUl loc Rt1Wt2 | True |

t3 arr tl end
CPU1 urgent := 0; CPU1 urgent := 0;

(CPUI_IOC_EthtZ 0 >= CPUl_urgent)

CPU1 urgent = 0

CPU1 urgent := 0; t2 dis

(CPUI loc EtIWt2Wt3 | 0 >= CPU1 urgent

(CPUl_loc_RtZ Truej"

CPU1 urgent = 0
tl dis

- CPU1_urgent = 0

CPU1 urgent = 0

t3 arr t2 end tl arr

t2 dis CPU1 urgent := 0; CPU1 urgent := 0; CPU1 urgent := 0;

(CPUI loc Rt2Wt3 | True

(CPUl_loc_Atl Rt2 | 0 >= CPUl_urgent)

t2 end tl arr
CPU1 urgent := 0; CPU1 urgent := 0;

(CPUl_loc_EtZ 0 >= CPUl_urgent) CULprgent =90

(CPUl loc Et2Wt3 | 0 >= CPU1 urgent (CPUl loc At1Rt2Wt3 | 0 >= CPU1 urgent)

CPU1 urgent = 0
t2 dis

CPU1 urgent = 0
tl dis

CPU1 urgent = 0
t3 dis

(CPUI_IOC_AthtZ 0>= CPUl_urgent)

CPU1 urgent = 0
t2 pre

{CPUl_loc_RtS

——

True *(CPUl loc At1Wt2Wt3 | 0 >= CPU1 urgent CPUL urgent =0 - cpyy yrgent = 0

t2 dis

(CPUl_loc_Atl Rt3

0>= CPUl_urgent)

CPU1 urgent = 0

t3 pre

(CPUl_loc_AtIWtB

0>= CPUl_urgent)

(CPUl_loc_EtS 0 >= CPUl_urgent)

tl arr t3 end . t2 arr
CPU1 urgent := 0; CPU1 urgent := 0; CPU1 urgent := 0;

(CPUl_loc_AtZRtS 0 >= CPUl_urgent)

CPU1 urgent =0

Y N
(CPUl_loc_stop True)4

CPU1 urgent =0
t3 pre

CPU1 loc At2Wt3 | 0 >= CPUl_urgent)




